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INSTRUCTIONS:

Write your registration number on the answer booklet.

DO NOT write on this question paper.

This paper contains SIX (6) questions.

Question ONE is compulsory.

Answer any other THREE questions.

Question ONE carries 25 MARKS and the rest carry 15 MARKS each.
Write all your answers in the Examination answer booklet provided.
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2019 2020
PRODUCE PRICE QUANTITY | PRICE QUANTITY
X 10,000 120 9,800 s
o 9,500 110 10,200 120
Z 11,000 118 11,300 130

Use Fishers ‘ideal price indices to advice the company on their performance

b) Draw diagrams showing positive and negative skewness

QUESTION FOUR

(10 Marks)
(5 Marks)

The following data was obtained from students who did an opening at St. Scholastic

School.
Marks No. of Students (F)
10 - 20 11
20 -30 18
30 - 40 22
40 - 50 29
50 - 60 38
60 - 70 32
70 - 80 21
80 -90 15
90 - 100 9

Required:

a) Calculate the mean

b) Determine the standard deviation

c) Determine the coefficient of variance

(4 Marks)
(9 Marks)
(2 Marks)
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